R

rER

B RS IR, EREMRK, RKEENEEE,

T XFinH M
=) —\
. { : 18 —
| G —/ —/
| s c
E B
A
AiE®Hk
T XFinH M
a —\ )\
—/ A S—
G C
S B
Tk
iTM4R S w6l (1K<= - BR~F#7 - BEGLRR
BACS - 0806 - B
FERS
(13 BRI&% B Edsk R o
M A B C D E F H T S(#77%8)
0806 M8x1.0 552 | 406 33.6 2.9 8.6 6.6 11 3 6
1007 M10x1.0 62.5 47 39 3 8.6 8.6 12.7 3 7
1210 M12x1.0 71.3 | 525 44 3 8.8 10.3 14 4 10
F (RRREEEEX)
BACS 1412 N GRiEEL) M14x1.5 90 67 58 4 11 12 19 6 12
2015 M20x1.5 | 103.8 73 62 6 15.8 | 17.8 26 8 15
2525 M25x1.5 136 92 82 8 19 22 32 10 25
2725 M27x1.5 143 99 86 8 19 22 32 10 25
B R~ %5 RARKEES B IRUTBE S BRAEBHER REELEE IERE
- Nm Nm kg m/s °C
0806 3 7000 6
1007 6 12400 12
1210 9 17800 25
1412 20 33000 40 5 -45~+80
2015 59 38000 120
2525 80 60000 180
2725 147 72000 400
1108 BEEEmARESEREHRE LN www.ant-fa.com



